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[ ] QOUVVZEDE. BEFFAINESNTUERACT, BEVEZLERA,

Choose the most semantically appropriate phrase from among 1 to 4 in order to

complete each sentence.

[IT % ) is an imaginative way of describing something by referring to something

else which is the same in a particular way. The answer is: .
1 A metaphor

A cognition

A perception

=W o

A psychology

(2] ¢ ) is the study of how sentences in spoken and written language form

larger meaningful units, such as paragraphs, conversations, and interviews. The

answer is:

1 Discourse analysis
2 Longitudinal study
3 Theoretical research

4 Quantitative research

(3] ¢ ) is a test designed to measure how much of a language learners have
successfully learned with specific reference to a particular course, textbook, or
program of instruction. The answer is:

1 A post test

2 A cloze test
3 A subjective test

4 An achievement test

(4] ( ) is a word which is opposite in meaning to another word. A distinction

is sometimes made between pairs like big and small, according to whether or not

the words are gradable. The answer is: :

1  An acronym
An antonym

A homonym

B W Mo

A synonym



Choose the most grammatically appropriate word or phrase from among 1 to 4 in

order to complete each sentence.

(1]

The researcher ( ) and writing about environmental politics and the

human-nature relationship for decades when he met his professor. The answer is:

L R U R S R

(2]

—

B~ W

has studied

had been studied
had been studying
has been studying

That’s a scary thought to city planners, who worry about the “sprawl” syndrome,

) people move farther away from the city. The answer is: .
what

in case
however

in which

(3] As economic development progresses, so ( ) environmental concerns,

including the increase in waste and energy consumption. The answer is:

1
2
3
4

(4]

do
that
as to

being

What ( ) we could use the Internet and other advanced information and

communication technologies to deliver higher education to these remote regions ?

The answer is: .

1

2
3
4

if
case
about

is it when



Complete each sentence by arranging the words within each { } bracket. Then

choose the appropriate words to fill in the blanks indicated with numbers, such as
(@ )or( ). Answer the most appropriate combination from among 1 to 4.

Note that there is an unnecessary word among the choices for each of the sentences.

(1) The teacher will evaluate ( ) ( @ ) ( ) ( ) (@ ) actually
engaged in meaningful activity.
{ what / extent / everyone / was / how / to }
The answer is: .
1 @ how @ everyone 2 O what @ was
3 @ everyone @ how 4 ® was @ to

(2] The learner will have ( ) ( ) (® ) (@ ) ( ) react to an

array of local contextual conditions.

{ account / and / take / to / into / the }

The answer is: .

1 ®to @ take 2 ®into @ account
3 ®and @ take 4 @ the @ account

(3] Our primary starting point for the discussion will be the ( ) ( ) ® )
( ® )( ) terms of motivation.

{ to / teachers / actions / the / take / in }

The answer is: .

1 ® teachers ® take 2 ® actions ® take
3 ® teachers ® in 4 ® the ® to

(4] When learning a first language, the process is relatively simple: ( ) (@ )
( ) ( ) ( ) is learn a set of new habits as we learn to respond to

stimuli in our environment.

{ have / do / all / with / we / to }

The answer is:

1T @al ® to 2 ®we ®do
3 @ have ® do 4 @ we ® to



Answer the following questions.

(1] Choose the underlined word from among (D to @ that is incorrect grammatically.

Answer from among 1 to 4. The answer is:

BRETAEOLNTOERADT, BHEVELERA.

Adapted from Animal Cultures Matter for Conservation (SCIENCE, March &, 2019)

1 @ 2 @ 3 ® 4 @



[2] Choose the underlined clause or sentence from among (D to @ that is incorrect
srammatically. Answer from among 1 to 4. The answer is: ;

BEBHAISABONTLEHADT, BHEVLEEA,

Adapted from Enric Sala, How Argentina is saving one of Earth’s most remote places

(NATIONAL GEOGRAPHIC, July, 2019)

1 @ 2 @ 3 @ 4 @



[3]1 The following passage has an unnecessary sentence that is logically improper.

Choose the unnecessary underlined sentence from among D to @. Answer from

among 1 to 4. The answer is: "

BRETAELNTOERADT, BHEVELERA.

Adapted from Japanese robotics to help companies drive efficiency

(NEWSWEEK, July 19, 2019)



(4] Choose the most appropriate location from among { A }»to{ D }in which
to put the following sentence. Answer from among 1 to 4. The answer is: ;

BEBHISABEONTLEEADT, EBHEVZLEEA,

Adapted from Hannah Oshorne and Fred Guterl,
Crop Futures (NEWSWEEK, February 8, 2019)

1T ¢ A ) 2 { B » 3 ( C % 4 ( D »



Read the following dialogue and answer the questions on the next page.

BRETAEONTOERADT, BHEVELERA.



BEBHISABLONTLEEADT, BEVLEEA,

Adapted from Jean Yates, English Conversation (McGraw-Hill Education, 2016)

[ 1] Which explains the underlined phrase correctly ? Choose the most appropriate
phrase from among 1 to 4. The answer is:
1 ordinary appliances
2 a full range of amenities
3 tidiness and spaciousness

4 a quite romantic atmosphere

[2] Choose the statement from among 1 to 4 that is not consistent in meaning with

the passage. The answer is: ;

1 Ted wants to find a new place to live in the city.
Ted prefers living by himself to sharing a room with a roommate.

It is difficult for Shirley to meet Ted’s demand right away. She needs a few days.

E - ¥% B

Ted has to tell his friend that he wouldn’t be able to keep his pet in their new

apartment.



Read the following passage and answer the questions on page 12. Note that the four

sentences in the m in the passage are randomly arranged for Question [ 1 ].

BEBHIIABEONTLEEADT, EBHEVLEEA,



BEHISABEONTLEEADT, BEVLEEA,

Adapted from Tanya Shaffer, Looking for Abdelatif,
an Unexpected Journey into the Heart of a Family in Casablanca,

Active Skills for Reading, 2nd Edition Student Book 4 {(Heinle, 2008)



[1] There are four sentences in the m in the passage. Choose the most
appropriate sentence order from among 1 to 4. The answer is: .

1 A - C - B —- D
2 B - D - C — A
3 © =+ A - D =+ B
4 D - B - A —- C

[2] Choose the most appropriate sentence from among 1 to 4 in order to fill in the

blank { (@O ). The answer is:

—

Flease tell me Miguel's address.

2 [I'm sorry, but we can'’t live here anymore.

3  We want to spend the whole day with him.

4 BEFASAEOATVERADT, BEVLERA,

[3] Choose the statement from among 1 to 4 that is the most consistent in meaning
with the passage. The answer is:
1 The address Abdelatif had written down for us was easy to understand.
2 After two hours had passed, the family insisted on serving us sugar cookies.
3 Miguel and I left our newfound family and arrived at the home of Baalal
Abdelatif.
4 Sixteen girls emerged from the house, and none of them resembled Abdelatif

at all.



A Blank Page



Read the following passage and answer the questions on page 17-18.

BEBHISABEONTVEEADT, EBEVLEEA,



BEBHIABONTLEHADT, BEVLEEA,



BEBHAISABONTVWEEADT, EBHEVLEEA,

Adapted from H. Douglas Brown and Heekyeong Lee, TEACHING by PRINCIPLES:

An Interactive Approach to Language Pedagogy, Fourth Edition (Pearson Education, 2015)



[1] Choose the most appropriate phrase from among 1 to 4 in order to fill in the
blank ( A ). The answer is:
1 imitating the character and behavior of someone
2 giving a talk in order to get support for a proposal
3 having a formal talk which someone gives to an audience
4

BEBHAISABEONTLEEADT, BEVLEEA,

[2] Choose the most appropriate phrase from among 1 to 4 in order to fill in the
blank ( B ). The answer is:
1 an informal assessment
2 a purpose of the activity
3 a degree of misunderstanding
4

BEBHAISABEONTVLEEADT, BHEVLEEA,

[3] Choose the statement from among 1 to 4 that is the most consistent in

meaning with the passage. The answer is:

1 It's important to be explicit in making sure students know what they are being
asked to do.

2 In classes of more than forty people, pre-assigning groups is quite manageable
if you come to class with the pre-assignments.

3 When students start moving into their groups, you need to check to make sure
that they all know their group members’ names.

4 If you think your students have any doubts about the significance of the

upcoming task, then tell them explicitly why a large group is important.



(4]

A title for each section is shown below from A to E. Fill in the blanks ¢

{

from among 1 to 4. The answer is: "

2 »{

1

>>1

3 »4& 4 ) and { 5 ) by choosing the most appropriate title

BEBHAIABONTLEEADT, BEVLEEA,

o R =

{1
(1)
{1
(1)

o O W >

{2)
{2
€23
{2

o o > W

{3»
{3)
(3>
{3)

O = O U

(4>
{4
(4>
{4

> o O o

{5
{5)
{5
{5)

m O = O
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